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>>> pd.merge(framel,frameZ,on:[‘id','brand'],how='outer')

brand color id
0 OMG white ball
1 ABC red pencil
2 ABC red pen
3 POD black mug
4 POD green ashtray
5 OMG NaN pencil
6 POD NaN pencil
7 ABC NaN ball
8 POD NaN pen
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>>> pd.merge(frame1,frame2,right_index=True, left_index=True)
brand x color id_x brand_y id y

OMG white ball OMG pencil

ABC red pencil POD pencil

ABC red pen ABC ball

POD black mug POD pen
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>>> framel.join(frame2)
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>>> frame2.columns = ['brand2','id2"']
>>> framel.join(frame2)
brand color id brand2 id2
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0 OMG white ball OMG pencil
1 ABC red pencil POD pencil
2 ABC red pen ABC ball
3 POD black mug POD pen
4

POD green ashtray NaN NaN
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